Coding activity: ‘Shackleton’ episode

This lesson is part of a series of lessons on Shackleton’s journey to the Antarctic. Parts of the story are being
read and discussed on each lesson. On this lesson, the students read about Shackleton’s decision to shoot
the dogs that accompanied them on this expedition due to lack of food and space on the ship. The teacher
has the following statement on the board: ‘It was right for the dogs to be shot’. She asks students to discuss
whether they agree with the statement or not and to justify their opinions. First, students discuss this in
groups. The following episode begins when the teacher brings the conversation back to the whole class.]

Agent Turn Coding
((Moves to front of class)) ((to class)) OK, right ((claps hands)), 6D, sh, can | just
have your attention, please? | think, if | was just (inaudible), | think this
discussion could go on longer, because I've picked up some really, really good

T points from each group. Right, it's time to summarise, get together the gist of IC

your group, and then you need to report back. Right, so, nice and clearly, and
take on a point of everybody in your group, and then we'll see how the
conversation went. OK, can we start with Hafizil? Stand up, please.

((Stands up)) In my group, Andrea, Asha and Shafi all agreed with it was right to
shoot the dogs because, like in the book, they said they needed more space on

Hafizil the ships and they needed more food supplies. Me and Saskia agreed that it A’RCEH’
was right, and we agreed and also disagreed with the statement, because they
could have used the dogs for guard dogs or something like... transportation.
OK. ... OK, right, thank you for your point. Who would like to add or build on
T what Hafizil's just said? ((Pointing to front left table)) Oracy leader here? A, IB
Yamin.
((Stands up)) Building on what Hafizil said, | disagree because they have
guard dogs and, if (inaudible), how will the guard dogs protect the stuff, B CH
Yamin because, say, for example, some of the men, they were hunting and 'Y
, RE
polar bears came, then the guard dogs wouldn't be enough to guard
their belongings.
T OK. But what was the overall view, opinion? A, IC
Overall, we think that it was right for the dogs to be shot because, if they do
Yamin shoot the dogs, then the humans would starve and the dogs would starve as B,
well because there wouldn't be any food left. So, if they shot the dogs, the RE/RC?
humans would have the food and they (inaudible)-
T Priority. U
Yamin priority is that the humans (inaudible) survive. U
T Survive, OK. Thank you, Yamin. Thank you. Who would like to build on from A IB
what Yamin's just said? ((Few hands raised)) OK, Taha. ’
((Stands up)) | agree with Yamin. The main priority was that it was right for
Taha them to shoot (inaudible). If they hadn't shot the dogs, the dogs (inaudible) will A B RE

die of starvation, and that's more painful than dying of a shot, because, if you
die of a shot, it's only painful for like one second.

OK. OK. So Taha's table have just said it was better that the dogs were shot
T rather than left there to die of starvation, because that would have also been a RE, IB
long, painful death. | don’t know. Taha, do you want to add to that?



